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QUESTION 1

REST stands for: Select the correct answer. 

A. Representational State Transfer 

B. Relational State Transport 

C. Repository Stack Target 

D. Released Semantic Transport 

Correct Answer: A 

 

QUESTION 2

To create REST services, you are required to deploy an enterprise service bus due to the need for inherent message
routing functionality. Select the correct answer. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 3

Which of the following statements make sense? SELECT ALL THAT APPLY 

A. I have 3 SOAP-based Web services, each with its own individual service contract. 

B. I have 3 REST services, all of which share the same uniform contract. 

C. I have 3 SOAP-based Web services, each with its own uniform contract. 

D. I have 3 REST services, each of which is designed to be accessed via the same set of HTTP methods. 

Correct Answer: ABD 

 

QUESTION 4

Which of the following statements are false? SELECT ALL THAT APPLY 

A. A service enters the service consumer role only when it initiates contact with other service consumers. 

B. A service enters the service consumer role only when it accesses other services acting as intermediaries. 

C. A service enters the service consumer role when it initiates contact with other services acting as service providers,
including those also acting as intermediaries. 
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D. A service cannot enter the service consumer role. 

Correct Answer: ABD 

 

QUESTION 5

Which of the following statements is true? Select the correct answer. 

A. REST services primarily rely on the use of SOAP headers to exchange message metadata. 

B. REST services primarily rely on the use of JMS headers to exchange message metadata. 

C. REST services primarily rely on the use of HTTP headers to exchange message metadata. 

D. REST services do not exchange messages with headers. 

Correct Answer: C 
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